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Exercice 1

Calculer le résultat des divisions posées suivantes :

1 2 5 5
− 1 0 0 0

2 5 5 0
− 2 5 0 0

5 0 0
− 5 0 0

0

5 0 0
2,5 1

1 0 5
− 7 0

3 5 0
− 3 5 0

0

7 0
1,5

3 7
− 3 6

1 0
− 8

2 0
− 2 0

0

4
9,2 5

Exercice 2

Calculer le résultat des divisions posées suivantes :

3 4 9 2
− 2 7 0 0

7 9 2 0
− 7 2 0 0

7 2 0 0
− 7 2 0 0

0

9 0 0
3,8 8

3 8 6 4
− 3 5 0 0

3 6 4 0
− 3 5 0 0

1 4 0 0
− 1 4 0 0

0

7 0 0
5,5 2

4 9 9 2
− 4 8 0 0

1 9 2 0
− 1 8 0 0

1 2 0 0
− 1 2 0 0

0

6 0 0
8,3 2

Exercice 3

Calculer le résultat des divisions posées suivantes :

1 3 8 4
− 1 2 0 0

1 8 4 0
− 1 8 0 0

4 0 0
− 4 0 0

0

2 0 0
6,9 2

9 8 7
− 7 0 0

2 8 7 0
− 2 8 0 0

7 0 0
− 7 0 0

0

7 0 0
1,4 1

6 9 7 6
− 6 4 0 0

5 7 6 0
− 5 6 0 0

1 6 0 0
− 1 6 0 0

0

8 0 0
8,7 2
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Exercice 4

Calculer le résultat des divisions posées suivantes :

1 5 8 2
− 1 4 0 0

1 8 2 0
− 1 4 0 0

4 2 0 0
− 4 2 0 0

0

7 0 0
2,2 6

5 9 6
− 5 6 0

3 6 0
− 3 2 0

4 0 0
− 4 0 0

0

8 0
7,4 5

2 3 3 4
− 2 1 0 0

2 3 4 0
− 2 1 0 0

2 4 0 0
− 2 4 0 0

0

3 0 0
7,7 8

Exercice 5

Calculer le résultat des divisions posées suivantes :

2 5 4 1
− 2 1 0 0

4 4 1 0
− 4 2 0 0

2 1 0 0
− 2 1 0 0

0

7 0 0
3,6 3

6 9 5 7
− 6 3 0 0

6 5 7 0
− 6 3 0 0

2 7 0 0
− 2 7 0 0

0

9 0 0
7,7 3

4 1 0 2
− 3 5 0 0

6 0 2 0
− 5 6 0 0

4 2 0 0
− 4 2 0 0

0

7 0 0
5,8 6

Exercice 6

Calculer le résultat des divisions posées suivantes :

2 0 5 6
− 1 6 0 0

4 5 6 0
− 4 0 0 0

5 6 0 0
− 5 6 0 0

0

8 0 0
2,5 7

7 4 5
− 5 0 0

2 4 5 0
− 2 0 0 0

4 5 0 0
− 4 5 0 0

0

5 0 0
1,4 9

8 5 6
− 8 0 0

5 6 0 0
− 5 6 0 0

0

8 0 0
1,0 7

Exercice 7

Calculer le résultat des divisions posées suivantes :
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6 4 2 6
− 6 3 0 0

1 2 6 0
− 9 0 0

3 6 0 0
− 3 6 0 0

0

9 0 0
7,1 4

5 9 4
− 4 0 0

1 9 4 0
− 1 8 0 0

1 4 0 0
− 1 4 0 0

0

2 0 0
2,9 7

3 5 9 6
− 3 2 0 0

3 9 6 0
− 3 6 0 0

3 6 0 0
− 3 6 0 0

0

4 0 0
8,9 9

Exercice 8

Calculer le résultat des divisions posées suivantes :

3 9 9
− 3 5 0

4 9 0
− 4 5 0

4 0 0
− 4 0 0

0

5 0
7,9 8

1 9 6 8
− 1 8 0 0

1 6 8 0
− 1 6 0 0

8 0 0
− 8 0 0

0

2 0 0
9,8 4

1 6 0 8
− 1 5 0 0

1 0 8 0
− 9 0 0

1 8 0 0
− 1 8 0 0

0

3 0 0
5,3 6

Année 2015/2016 http://www.toupty.com

https://www.toupty.com/exercice-math-cm2.html

